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And > maintains if he ate a superior — 739w YK PRYRRS 92N

Overview

The Xn>>2 presents a NPY7nn between PRy " and X2°py . °"1 maintains
(that the 2%w> "2 17w 2V 710D teaches us) that it is necessary for the °m to
pay damages equivalent to the produce of the s'pr1 best field. While ¥"9
maintains (that the 105 teaches us) the damages are collected from the
choicest fields, and certainly it is so by 'w7ps. The X»3 challenges the view
of *'"7 and asks; if the animal ate a 712® he pays a 71°nw and if he ate a 7w
he (also) pays a 71mw?! There are two issues discussed in this moon. Firstly
why mention the phrase 7w obwn n1nw 9oX; the X3 could have simply
asked n1nw o>wn nwind 9a8?! Secondly why is the question on > more than
on ¥"; neither said that n°nw 0own 7wInd 9o8. They both seemingly said the
same thing; the P> pays from the 2v°» (according to °"9) or the (¥"9) n°7v.

— APNY DYUN INNBN NYIND YN NIN DMWY DYUN NPNY YN Xnvwa vy
The explanation of the phrase nnw obwn 717w %X is to be understood as
follows: it is rightfully understood that ;73w abwn qnw a8 (for the 7710
writes 07w "\ 2vn) however if he ate a 7>, why does he pay for a
R ?!

mooIn offers an alternate explanation:
— POYIY 1N NINIY NOHX DOYN PN NIMNYAT 199 1WIT0 991 93 ON

If you wish you may also say that this is the explanation of the phrase 92X
nrRw obwn a1nw; since, when he ate a m»w, he only pays a mn»w, as

much as he damaged -
— PNV NNN NN BYYY 1Y 139037 K

And we do not punish him to pay more than he damaged -
— NIY DYV PRAY NH9N 9N DOV NY0IPY XY 91 NWINI JONWI )5 ON

If so, then when he ate a 7w>, we should also not punish him to pay
more than he damaged; i.c. to pay a 77w,

nooIn asks:
= 91919 HNVNIYY Y29 992932 291 PV INNIN ITINN ON)

And if you will say; why was the X3 more mistaken® in the words of >~

to assume that he meant to say -
=3I abwn NYINS YaN oNY

' The x»3 subsequently explains the np1oms between ¥ ",

* The term 'w179' is generally used when there is some difficulty with the apparent interpretation. Here too
the phrase n71°nw 0own 71w IR is seemingly unwarranted (see ‘Overview’).

? The question is why there is an inconsistency in the method of payment.

* The assumption that 73w 02wn 7N 3R is a mistaken one; as is soon evident in the X7,
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that if 739w 25w 7w YoN —
— 993 NP NIIPY 229 NIDT NIYPY 29 292713 0

More than in the words of ¥''9. Perhaps (just as we assume that >"7 meant

TRw obwn wIns Yox) ' also meant -
— PMTYAY NPRY ANIY BIUN AWIND *ANY YN ONY

That if he ate a 71> row he pays with the 735w row of his fields®.

Mo0IN answers:
— %90 HNYNIY? 129 99292 NYL 723D MY YN

And one can say; the reason he wrongfully interpreted the words of >''9,

rather than the words of ¥y", is -
— PPN 1 PPIY MY KIN 21N N2 KXY NPY %29 9INPT 0IUN

Because ¥''1 responded to °"1, saying; ‘the verse did not come to teach
what you maintain, but rather it comes only to teach us to collect damages

from n37°¥ (and nothing more) -
— POV NNN 9N 2NY 21NN RAY IRYNYI 22910 ¥IVY ¥YHUN

This’ indicates that ¥" understood from 5"+ that the 9 is coming to

obligate the P> to pay even more than he damaged, meaning -
111399V DYYN NYIND YN ONT 9

That for instance if he ate a w2, he pays a 7w,

Summary
The preface of 121 7nw 2K is to either set the stage for, or strengthen, the

question of 7MW D2Wn WD YOK.
The statement of XX 211277 X2 XY indicates that ¥"9 is minimizing the rule of
2vn as opposed to *".

Thinking it over
1. What are the relative advantages of the two 2°¥17® in the beginning of
mooin?

2. Moo mentions that the term of 121 X?X 210577 82 XY indicates that ¥"9 is
less severe (concerning 2v°») than *"1. However in the X1pon of the X 13 that
they argue in a case where P17 N2 PI°17 N7V, it turns out that ¥" is
T"amn. How does that fit in with the phrase of 9% 210577 X2 X9?°

> It is not clear why m»ooIn inserts here the word(s) 7Y. [See following footnote # 6.]

® See 0" who interprets this to mean from the field of the pr.

7 The words (of ¥"1 that) '8 21271 X2 X' indicate that ¥" is coming to lessen the obligation and severity
that his counterpart > ascribed to the 7105. [Otherwise in the simple reading of the &n>72 there seems to be
no difference between *"1 and ¥"1 (except perhaps the phrase 'w7pn? w"51)]. The X713 assumes that the
severity of > is that 71nw 2wn mwINd 7oR.

¥ See 131 0" .
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